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Laser: Plot system ver. May 29 2011 09:16:31
rms size <x’>,=0.16167, <y*>,=0.16166, [mm]
Electron beam:
Momentum gun: 6.60600 +0.0447, [MeVic]
Momentum boo: 24.72700 +0.0596, [MeVic]
Syag 0.17070 [mm]
Oscan 0.12261 [mm]
divergence 0.04157 [mrad]
covariance 0.00051 [mm mrad]
sheared div 0.00507 [mrad]
scaled
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Egoscaled 0.245 [mm mrad]
scaled
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Y-slit: new result (projections)
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X-slit: left — Logbook, right — new result
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ser: Plot system ver. May 20 2011 09:16:31
rms size <X’ =0.16167, <y*>,=0.16166, [mm]
lectron beam:
omentum gun: 6.60600 +0.0447, [MeVie]
lomentum boo: 24.72700 +0.0596, [MeVic]
Oyag 0.53710 [mm]
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Electron beam:
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PaveText, A Pave with several lines of text, TPave 482,62 x=0.461179, y=1.20772




X-slit: new result (projections)
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